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GENERAL INSTRUCTIONS

1. Read the instructions given on the | 1 ywy & 3 fomm 4 @ vw-yias ik

Question Booklet and OMR Sheet befc.)re TR, mﬂﬁa@ﬁ%ﬂﬁl L
starting the answers. All the entries VIR

should be filled by blue or black ball e Srorar e e g R

point pen.

2. weA-Yias o 100 799 ¥ &R w0t e sifard
2, The Question Booklet contains )

100 questions and all questions are
compulsory.
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3.  Each question is of 2 marks. There is no ‘ (negative‘marking) & B
negative marking. -

4. Candidates must ensure that the Question 4. e ! A 53T S R @
Booklet issued to them has all the T & I weft we sifera ¥ eyl - i
questions. Defective Question Booklet can 10 Toe =t safy & a<oaE o1 Ghdt 2

be got changed within 10 minutes.
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11.

12.

In case of any discrepancy between
English and Hindi versions of a question,
English version will be taken as correct,

wherever there are hoth versions.

Select and darken the circle corresponding
to the answer [(A) or (B) or (C) or (D)] in
OMR sheet.

In case more than one circles are
darkened in a question, it will not be

evaluated.

Do not make any stray marks on OMR
sheet and do not fold it.

Any candidate found removing pages from
the Question Booklet may be disqualified

and prosecuted.

Use of unfair means will disqualify the

candidate from the examination.

Cell phone, calculator or any such devices

are not allowed in the Examination Hall.

No candidate is allowed to leave the seat
before handing over the original OMR
sheet to the invigilator. Candidate can
take Question Booklet and Carbon copy of

OMR sheet.
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Muslim Women Act (Protection of Rights on
Marriage) was passed by both Houses of Parliament

on:

(A)  TJuly 30, 2020
(B)  July 30,2019
© May19,2020

(D) May19,2019

Who developed Ecological Model of Human

Development ?
(A)  Urie Bronfenbrenner

(B) ParkD.Rose

(© Bandura
(D)  Piaget
PKUis:

(A)  Anuntreatable metabolic disorder thatcauses
retardation

(B)  Therarestof recessive disorders
({©)  Treatable with special diets

()  Notdiagnosed until school age

If a Rh-negative mother delivers her second
Rh-positive baby, which of the following will be the

result?

{A)  normal healthy baby
(B)  microcephaly

(©  erythroblastosis

(D)  premature separation of the placenta
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Adaptation consists of :

(A) Organization and adaptation
(B) Structures and functions
(©  Operations and products

(D)  Assimilation and accommodation

A young child’s inability to distinguish her own

cognitive perspective from others’ perspectives is:
(A) - egocentrism

(B) centration

(©  irreversibility of thought

(D) identity constancy

According to the linguist N, Chomsky, behaviourist

cannot explain the fact that:

(A) Children produce utterances they could

never have heard before

(B)  Children learn new words rapidly by making

associations between sounds and objects

(©) Children who hear English speak English,

while those who hear Chinese speak Chinese

(D)  Childrenspeak grammatically if their parents

punish them for poor grammar

Our organized, general knowledge system is known

as:

(4) Episodic memory
(B)  Long-term memory
(C) Semantic memory

(D)  Verbal memory
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11

12,

Mainstreaming refers to :
(A)  Ability tracking

(B) Placing all same-aged students into the
regular classroom regardless of type or

severity of problem

(©) Placing physically, but not mentally
handicapped children in regular classrooms

(D) Placing handicapped children into the least
restrictive environment based on severity of

problem

Investigator recorded the behavior of the nursery
school children helping another child or teacher.

She was using an observational method called :

(A) Sampling basics

(B)  Associative sampling
(©) Eventsampling

(D)  Time sampling

A control group is a group that :
(A}  Controls the other groups

B) Is like the other groups but receives no
experimental treatment

(© Isstandard for the level of the independent

variable

(™)  Israndomly assigned

Mr. Gupta has been studying the same group of
elementary students from their second to sixth

grades. His designis:
(A) Naturalistic

(B) Biased

(©)  Cross-sectional

(D) Longitudinal
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13.

14.

15.

16.

Baby begins sucking movements with his lips as
soon as he sees his bottle. In this case, the bottle is
the :

(A) Conditioned stimulus
(B) Unconditioned stimulus
(©) Conditioned response

(D) Unconditioned response

The unborn child is most susceptible to harm by
drugs or disease during which months of prenatal
life ?

(A}  Firsttrimester
(B)  Second trimester
(©)  Third trimester

(D) Allof them

What is the purpose of the Apgar score ?

(A) To screen for visual pattern preference in

newborns
(B) Toconfirm COVID-19

(C) To indicate the newborn’s overall physical

condition

(D) Toindicate behavioural states in the newborn

A mother hides a toy under her purse so he will
forget about it, baby hesitates, then pushes the purse
until he is able to grasp the toy. His mother realizes
that he has.

(A)  Animitative repertoire
(B)  Object permanence
(© Habituation

(D) Pseudoimitation
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18.

19.

20.

The idea that language could be explained in terms
of children getting reinforcement for imitating

specific utterances was that of :
{A) The waiting theory
(B)  The learning theorists

({©)  The nativists

(D) Chomsky

As children grow, the center of gravity moves:
(A)  Upthebody

(B)  Acrossthe body

(©  Down the body

()}  Around thebody

Five-year-old Prithvi and his baby brother are
having lunch. Daddy cuts the baby’s sandwich into
quarters so he can handle it easily. Prithvi yells,
“Now he has more sandwich than me-it's not fair!”
Daddy knows that Prithvi.

(A) isenvious of the baby
(B)  has topological thought
{©) thinks in terms of noncontinuous models

(D) cannotconserve quantity

The ability to think about individual speech sounds
inalanguage is termed :

(A)  Syllabic hypothesis
(B) Decontextualization
(©) Phonemic awareness

(D)  Environmental print
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21.

22,

23.

24,

25,

What type of growth rate occurs during middle
childhood ?

{A) Boys usually experience a growth spurt

before girls
(B)  Physical growth rate is similar among sexes
(C}  Children grow at different rate

(D) Growth spurts are more common in

preschoolers

School-age children can “think about thinking.”
This ability is termed :

(A) Chronological
(B) Metacognition
(© Internal control
(D) Operational

Although Sophie’s IQ was only average, she made
all A’s and was president of the student council.
Sophie exhibits high.

(A) Metacognitive skills

(B)  Achievement motivation

(©  Mental capacity

(D) Externallocus of control

Compared to group testIndividual intelligence tests
are:

(A)  less time consuming

(B) lacking in subjects

(©  moreexpensive

(D) lIessreliable

“Auto Education” term was given by :

(A) Freud

(B)  Ericson

(©) Montessori
(D) Froebel

125-Hum.Dev.(Home Secience) II

21.

22.

23.

24,

25.

e A o QA o P giG X T TR i Bt

27

(A) SIFEAR W AH & fam o o detwar @
REGES G|

B) wHIEF gfg A € | Wy et g

© ==l A gy ST - STe Bt §1

@) ieped (qEepet) T gfs wam g
a1k A

Wm%aﬁ“@a%aﬁﬁ@a” (“think about
thinking”) ¥d &1 39 AT 1 Fhad ¢ -

(A) HIERHESE (Chronological)

(B)  HIHFTINA (Metacognition)

(©  AiaiEs 899 (Internal control)

(D) STYWHA (Operational)

TP IR T g A (1Q) I & U STt
it A ot 7 forameff 9ftvg =1 38 eie= i §1 sm:
W T 59 I €

(A) FETERFIEE e (Metacognitive skills)

(B)  3uTifert &l GO (Achievement motivation)
() TW{EE &9 (Mental capacity)

(D) &0 &1 9 fehM (External locus of

confrol)
ferd i T, FE T ® gem o ¢

(A) wH A E

®) faudi |
© g
(D) FF 9UHHS

‘a2 uFed’ v femer gra fem T ?
(A) WS (Freud)

®) WA (Ericson)

© Hi=& (Montessori)

(D) IS (Froebel)



26.

27.

28.

29.

30.

A score that indicates the age level for which a

particular performance is typical is :
(A)  Alpha coefficient

(B) Ageequivalentscore

© CWR

(D) Gradeequivalent score

The extent to which scores differ from one another

is known as :

(A) Variable
(B)  Variability
(©  Validity
(Dy  Variance

The heritability coefficient is a measure of :
(A)  the genetic componentin a trait
(B) polygenic irheritance

(C) the relative importance of heredity and

environment

(D) alloftheabove

A child who believes that Sun follows him as he
walks is exhibiting :

(A) imaginative thought
(B) animism
(©  egocentrism

(D)  conservation

Deductional hypothesis is necessary to :

(A) conservation
(B) formalthinking
(©  egocentrism

(D) alloftheabove
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31.

32

33.

34.

35.

The organ associated with efficient functioning of

immune system is the :
(A)  Brain

(B) Hypothalamus
(C©) Thalamus

(D)  Thymus

The most rational component which governs our
personality is :

@A) id

B ego

(©) superego

(D) wisdom

When POCSO Act was passed ?
(A) 2019
@) 2012
© 2020
®) 2021

Freud is known as father of

theory.

(A) Learning

(B) Developmental
(©  Psychoanalytical

(D) None

The Psychosocial theory stage of Industry versus
Inferiority is given by :

(A) Piaget

(B) Freud

(© Johnson

(D)  Erikson
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38,

39.

Adaptation and assimilation are the concepts given
by:

(A)  Freud
(B) Piaget
(©) Erikson
(D}  Hurlock

According to Erikson, what is the most important

crisis faced by adolescents ?

(A) Sudden physical growth

(B)  Identity and role confusion

(&) Mental and intellectual growth limitations
(D)  Moral issues and confusion

The last stage of cognitive development according

to Piagetis:

(A)  Sensori motor stage

{(B)  Concrete operational stage
(O  Formaloperational stage
(D) Pre-operationalstage

Defence mechanism that seals off and pushes down
unwanted thoughts and feelings into the

unconscious and out of our awareness is :

(A) Repression
{(B) Regression
(©) Projection

(D)  Displacement
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40.

41,

42,

43,

The

complex is to boys.

complex is to girls as the

(A)  Electra, Oedipus
(B)  Oedipus, Electra
(©) Oral, Phallic

(D)  Phallic, Oral

Piaget’s theory focusses on which development of
children ?

(A) Mental representations
(8) Language
(©  Cognitive schemas

(D)  Theory of mind

Piaget’s first stage occurs before school age. Which
of the following is established at the end of this
stage ?

(A)  Symbolic thought
(B) Mental maps
(©) Spatial awareness

(D) None of these

What is the correct term for a situation where a
stimulus no longer evokes the conditioned

response ?

(A) Generalisation
(B)  Discrimination
(©  Extinction

(D) None of these
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45,

46.

47.

According to Skinnerian Operant conditioning

theory, a negative reinforcement is :

{A) Punishment

(B)  Abiofeedback

(©) A withdrawing or removal of a positive
reinforce

(D)  Aninstinctive drift

In Operant conditioning procedure, the role of

reinforcement js :

(A)  Strikingly significant
(B) Negligible

(©) Notnecessary

(D)  None of the above

A very useful principle of learning is that, a new

response is strengthened by :
(A) Punishment

(B) Reinforcement

(©  Discriminative Stimulus
(D) None of the above

Which family is formed by an individual when he

marries and has children ?

(A) Matrifocal lone parent family
(B) Patrifocal lone parent family
(©  Nuclear family

(D) Jointfamily
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48. Marriage of a woman with two men or more menis | 48.

called :

(A) monogamy
(B)  polygamy
©  polyandry

(D) cohabitation

49.  Which of the following is not a characteristic of a | 49.

patriarchal family ?
(A) Husband may be a casual visitor.
(B)  Wife comes to live in the house of husband.

(©  Children have no right over the property of
mother’s family.
(D) TFather is the supreme head of the family.

50.  Whatis Co-living ? 50.

(A)  One woman marring several men.

(B)  One woman has one husband.

(&) One women marrying one man and his
brother.

(D) A woman and man living together without

marriage.

51. When two or more closely related nuclear families | 51.

cluster together into a large domestic group, they

form a unit known as the ?
(A)  Cluster

(B)  Extended family

(© Institution

(D) Organization

52.  Adolescents who commit activities which areillegal | 52.

as well as destructive toc themselves or others, are

engaged in:

(A) Juvenile delinquency
(B) Heroism

(C) Funand play

(D) Drama
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53.

54,

55.

56.

57.

A family consisting of a couple, the children they
have had together and their children from previous

relationships.

(&) Joint family

{B)  Extended family
{C Blended family
(D) Largefamily

The provision of Section 354 of the Indian Penal
Code deals with :

(A) Physical contact and advances involving
unwelcome and explicit sexual overtures
(B)  Demand or request for sexual favours
(©) Making sexually coloured remarks
O} Alltheabove

Physical abuse, sexual abuse, verbal and economic
abuse and emotional abuse falls in the definition
of :

(A) Hindus Marriage Act

(B)  Protection of women from domestic violence
act

(C)  Juvenilejustice act

(D)  None of the above

The Dowry Prohibition Act 1961 defines dowry as:
(A)  Any property or valuable security given or

agreed to be given either directly or indirectly

(B)  Property of inlaws family
(©) Property of husband
(D)  Only the cash given during marriage

Which of the following is an example of a Specific
Learning Disability ?

(A) Mental Retardation

(B} Dyslexia

() ADHD

(D} Autistic spectrum disorders
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58.

59.

60.

61.

62.

Which of the following is an example of an
intellectual disability ?

(A)  Mental Retardation

(B} Dyslexia

(&) ADHD

(D) Autistic spectrum disorders

In learning disabilities, the name for mathematical

disorder is :

(A) Dyspraxia
{B) Dyslexia
(C) Dyscalculia
() Dysphasia

Which of the following is a technique used to

address stuttering ?

{A) Purposeful Speech
(B) Practical Speech
(©) Delayed Speech
(D)  Prolonged Speech

In childhood disorders there are different types of
problems such as Symptom-Based Disorders. One

such disorder is known as enuresis, which means :

(A)  Sleepwalking

(B) Bedwetting

(C)  Lackof bowel control
(D)  Stammtering

Children with ADHD are known to have deficits in

which of the following brain areas ?

(A) Perception

(B)  Motor function

(©  Executive function
®) Memory
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64.
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67.

68.

Children with nonverbal learning disabilities and
autism spectrum disorder (ASD) typically share
which of the following characteristics ?

(A) Preference for visual-spatial tasks

(B) Limited range of interests

({©  Good organisational skills

(D)  Difficulty interpreting social cues

InOCD, are to thoughts as compulsion
are to actions.

(A) opinions,

(B)  convictions

(©) obsessions,

(D)  compulsions

Schizophrenia is usually diagnosed in :

(Ay Infancy

(BY Childhood

(C©)  Early adulthood
(D) Oldage

The general process of acquiring culture is referred

to as

(A) Sccialisation

(B)  Acculturation

({©) Semai

(D)  None of theabove
John Locke viewed child as :
(A) VeryIntelligent

(B) BlankSlate

(©) Parent'sCopy

(D) Bornevil

In year Comenius established school
of Infancy.

(A) 1628

(B) 1680

(© 1800

D) 1920
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609.

70.

71.

72,

73.

74.

This is a principle of development :

(A) Developmentis controllable

(B) Development is influenced by reward and
punishment

(O Development proceeds from specific to
general

(D) Development proceeds from General to

specific
Puberty is related to rise in parent - child

(A)  Relationship
(B)  Understanding
(O  Conflict

(D) Interests

Heredity - Environment is synonym to
{A) Growth-Detielopment

(B}  Autocratic - Democratic

(O  Nature-Nurture

(D) Punishment - Reward

This would not be an advantage of right handedness :
(A) Food - intake is proper

(B)  Conformity to Social Expectation

(C)  Personality is favorably affected

(D)  Demonstrations are meaningful

A healthy newborn’s pulse rate is

(A)  180/min
(B) 120/min
©  92/min
(D) 72/min

The Defective speech does not have this categories :
(A) Defects in word meaning

(B)  Defects in Pronunciation

({©)  Defects in mixing two Languages

(D)  Defects in sentence structure
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75.

76.

77.

78,

79.

is considered as father of

psychoanalytic theory.
(&) Gardener

(B)  Skinner

{©) Piaget

(D) Freud

The right age for Trust versus Mistrust stage of

Erikson is

(A) Birth-Oneyear
(B) 6years-1lyears
({© 3years-o6years
(D)  Adulthood

in his recent revision of theory call it as

social - cognitive rather than a social learning

approach.

(A) Freud
(B) Bandura
(©) Diaget
(D)  Erikson

Gandhiji in 1937 gave a new educational system to
India called :

(A) Play way

(B)  Kindergarten
(© Nai-Talim
(D) Montessori

A report on “State of world's children” is released

every year by
(A) NCERT
(B) UNICEF
© ICDs
0) UNO
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80.

81,

82,
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85.

This is not one of the objective of Pre-school

education in India :

(A) Toencourage aesthetic appreciation
(B) Toencourage creativity

(@O  Todevelop social attitude

(D) Todevelop Casteism

can be trained for music and use of

audio - aids for teaching.

(A} ADHD

(B)  Behavior problem
(©  Visually impaired
(D) Hearing impaired
Children are having 1Q :
(A) 80-120

(B) 130 and above

© 50-70

(D) above 100

As per New National Education Policy launched
on July 2020, the pattern for education will be :

(A)  5+3+3+4

(B) 10+2+3

C) 3+5+3+4

(D) 3+2+6+4

If you have to study the weight of 4 and 8 year old
Children, ydu can choose method.

(A) Casestudy

(B) Observation

(©  Cross-sectional

(D)  Rating Scales

With method a group of children is

studied in a Laboratory setting under controlled

Conditions.

(A) Experimental
(B) Longitudinal
(© Interview

(D) Case-study
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87.

88.

89,
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In CAT and TAT test, A represent for

(A) Appearance
(BY  Apperception
(C) Apparently
(D) Appealing

The agency which is actively associated with the

development of pre-school education in India is

(A)  ICCW
(®) ICSSR

(©  NCERT

(D)  SOS Village

Every Child has the right to basic need does not

include

(A) Balanced diet

(B)  Proper Health care
(O  Sufficient Sports
(D)  Sufficient Shelter

NIPCCD is an Indian Government agency in Delhi
under the ministry of

(A)  Women and Child development

(B) Humanresource development
({C) Education
(D)  Health and Family Welfare

Everyoneregards marriage as a relatively permanent

and committed

(A) Contract

(B)  Regulation
(C©  Setofrules
(D)  Relationship
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91.

92.

93.

4.

95,

After Nirbhya Case, new Juvenile Justice Act
{Care and Protection of Children) has

been passed by Parliament of India.

(A) 2000
(B) 2020
© 2012
®) 2015

marriage involves one person married
to a person of the other sex.
(A) Monogamy
(B)  Polygamy
({©) Monologue
Dy Cenogamy

Almost universally, marriage is based on the official

control of

(&) Sex

(B)  Childbearing
(C©)  Society

(D) Wealth

In the adult years the gain in weight is mainly from

(A)  Muscles mass

(B) Bones

(Cy Fatty tissue accumulation
(D)  Lackof activity

Erikson reported that Adolescents faces most
importantcrisisie.:

(i  Identity confusion

{ii)  Physical growth

(i) Voice change

{iv)y RoleConfusion

{A) (i) and (ii)

®  ()and(iv)

© (), (i) and (if)

© (i) and (iv)
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96.

97.

98.

99,

100.

The main purpose of a Pilot study in Educational

research is :

(A) Toimprove the research plan
(B) Totry the research tool

({©) To train the research team
(D) Tocollect preliminary data

Hypothesis is a statement about :

(A)  The relationship between two variables

(B) Intelligent guess of the solution of the problem
(©  The tentative solution of the problem

(D)  Allof theabove

The first step of research is :

(A) Selecting a problem

(B)  Searching a problem

() Findinga problem

(D)  Identifyinga problem

To test null hypothesis, a researcher uses :

(A) ttest

{(B) ANOVA

©

(D)  TFactorial analysis

Writing a research proposal is not always necessary

for:

(A) The problem statement to be adequately
delimitted so that the problem can be
investigated

(B) Theinvestigator to review the Literature

(C) The variables in the hypothesis to be
positively correlated

(D)  The terms in the study to be defined

-00o0-
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